/725, IRONRIDGE XR Rail Family

Solar Is ot b_éawn Sunny

Over their lifetime, solar panels experience countiess
extreme waather events. Not just the worst storms in years,
but the worst storms in 40 years. Iﬁ:i_&ao@ﬁazw%
ripping panels from a roof, and snowfalls weighing
enough to buckle a panet frams.

XR Rails are the structurat backbone praventing
these results. They resist Uplift, protect
against buckling and safely and efficiently
transfer loads intg the building structure. c&x
Their superior spanning capability
requires fewer roof attachments,
reducing the number of root
penetrations and the amount

of installation time.

Bl =i 5 | wie v

Compatible with Flat & Pitched Roofs
T XA Rk aro T wanRicge afters

XR Rail Family

This XR Rail Family offers the strangth of a curved rail in three targeted sizes. Each size supporis specific
design loads, while minimizing material costs. Depending on your location, there is an XR Rail to maich.

HR100 I3 s‘:ﬁzﬁﬁ%
mounting rall.
wind and snaw condiio _.G.(_.’pwn
wp fo 10 feet.

Rail Selection

The table below was prepared in compliance with applicable engineering codes and standards.” Values are
based on the following criteria: ASCE 7-16, Gable Roof Flush Mount, Roof Zones 1 & 2e, Exposure B, Roof
Slcpe of B to 20 degrees and Mean Building Height of 30 ft. Visit IronRidge.com for detailed certification letters.

- .
120
| XRi0 XR100

180

4509 NW 23RD AVE, STE 20,
GAINESVILLE, FL 32606

TEL: (352)281-5946
CSLB #: CVC56781

Email barmy@isolarimpact. com

REVISIONS

DESCRIPTION DATE

REV

INITIAL mﬁh)mm

PROJECT NAME

1250 NW DALIAN LN,
LAKE CITY, FL 32055 USA
APN# 31381706127001
UTILITY: FPL
AHJ: CITY OF LAKE CITY

THOMAS COLLINS

SHEET NAME

SPEC SHEETS

SHEET SIZ8
ANSI B
11" X7

SHEET NUMBER

PV-14




#75, IRONRIDGE

Background

Ali roofing products are tested and
classified for their abifity to resist fire.

Recently, these fire resistance

were expanded to include solar equip

as part of the roof system. Specifically, this i

requires the modules, mounting h

and roof covering to be tested together as i i e W\ -
a system 1o ensure they achieve the same Mol and te-reted 1oof coverng.

fire rating as the original roof covering. | PeotCot

These new requirements are being adopted ri
throughout the country in 2016. | o i

IronRidge Certification

IronRidge was the first company fo

recsive a Class A Fire Rating—the highest
possible rating—from Intertek Group plc., a
Nationally Recognized Testing Laboratory.

Az X Eiock Is placed on modult 2% o fan biows &t 12 mgn.
B s on anchassidn of oo within 50 minues.

IronRidge Flush Mount and Tilt Mount
Systems were tested on sloped and flat
roafs in accordance with the new UL 1703
& UL 2703 test standards. The testing
evaluated the system's ability to resist
flame spread, buming material and
structural damage to the roof.

Refer to the table below to determine the
requirements for achieving a Class A Fire

Rating on your next project. Pl at seige of ool is almed up the mof a5 a fan biows at 12
g, The Baswe cannod epresd & teod or mon in 70 mirmaes.

Fiush Mount |
o | Any Slope

Tilt Mount
e e

~—— WMpre Resources —

Frequently Asked Questions

What is a “module type®?
The new UL1703 standard infroduces the concept of a

What and flashings are
compatible with Class A7

and their respect ings are not

PV modute type, based on 4
and 2 fire perft The purpose of
this ciassification is 1o certify mounting systems without
naeding to test it with every module.

What rocfing materials are covered?

Al fire rated roofing materials are covered within this
certification including composition shingle, clay and
cament tiie, metal, and membrane roofs.

What if | have a Class C roof, but the jurisdiction
now requires Class A or B?

Generally, older roofs will typically be “grandfathered
in", and will not require re-roofing. However, if 50% or
more of the roofing material is replaced for the solar

ion the code req) will be

‘Where is the new fire rating requirement code listed?

2012 IBC: 1509.7.2 Fire classification, Rooftop
mounted photovoliaic systems shall have the same fire
ification as the roof ired by Section

1505,

Where is a Class A Fire Rating required?

The general for roofing syst in the IBC
refers to a Class C fire rating. Class A or B is required for
areas such as Wildland Urban Interfacea areas (WUI) and
for vary high fire saverity areas. Many of these areas are
found throughout the western United States. California
has the most Class A and B roof fire rating requirements,
due to wild fire concems.

Are mid clamps

Mid elamps and end clamps are considered parl of the
PV “system”, and are covered in the certification.

constituents of the rating at this fima. All code-compliant
flashing methods are acceptable from a fire rating
standpaint,

‘What ting height is

UL fire testing was performed with a gap of 5°, which is
considered worst case in the standard. Therafare, the
rating is applicable to any module to roof gap.

Am | required to install skirting to meet the fire
code?

No, IronRidge achievad a Class A fire rating without any
additional racking components.

‘What determinas Fire Classification?

Fire Classification refers to a fire-resistance rating
system for roof covering materials based on their ability
to withstand fire exposure.

Class A - effective against severe fire exposure
Class B - effective against fire axp
Class C - effective against light fire exposure

What if the roof covering s not Class A rated?

The lronRidge Class A rating will not diminish the fire
rating of the rocf, whether Class A, B, or C.

Whiat tilts is the tilt mount system fire rated for?

The filt mount system is rated for 1 degrees and up and
any rool to module gap, or mounting height.

2703 Listing and Fire Aating Classification.
B Go to bonBidge.com

 Engineering Certification Letters
ofier complete engineering resources

mﬁﬁﬂM@

BARRY JACOBSON

I B
E— [
1
PROJECT NAME
B
b I =] o
LIipR O
Z>10V N W
LA01LK
=N
0L30Fm

CALT..
DF.IWF
2z>8E50
A |
MNWM_HW
O220#Dg
W%Em =
i |
1WA T
<

SHEET MAME
SPEC SHEETS
SHEET SIZE
ANSI B
1" X7
SHEET NUMBER

PV-15




* 'NEW PRODUCT
lm ® SolarFoot™

The Right Way!

S.com

3432 | www.S-

The right way to attach almost anything to metal roofs!

in
o™
%
=]
=]
©

impact:
BARRY JACOBSON
4508 NW 23RD AVE, STE 20,
GAINESVILLE, FL 32606
TEL: (352)281-5946
CELB # : CVC56TE1
Emall barry@sciarimpact.com

Exposed fastenser mounting
platform for solar arrays attaciee
¥iz L-Foot and Rails

VR eather pront attachesen 1
axposed fastenat roaiing
Butyl sealant mepacyoir provades
long-term waterpioof seal
14B-1. 2551 Fmim $1ug wish M3 nex
fiange mat for artachmert of 3
poputar L-Footirail combiizations.
food: 13 mm Hex Socket or 1™
Hex: Sockat

|| Too! Raquired: Electric Screw qun
witsy hex drive socket forsail-
LADPInG SCrewl.

Low Center of Gravity reduces
mTmRent arm cormonty
associated with -FootiRail salac

Ataches directly 1o Siructure o
“deck for optimal hokding srengin
5-50 Arcommended substrate-
specific (e.g. steed puelin, wood

oy x4, 058, s fastenen: provide
o 1 i . : Bkceibent wateraraafing and pull
0 Metal to Metal: Matal to Wood: gyt strength
| t/4-14 Self Drilling Screw 1414 Type 17 AB Milled Point ;
Bt i 1-1/2" to 2-1/2* Fastenes theough-hole
e S 2 {ocaticns compiy with NOS
: o ibiece fameners for yos projects, contadt .51 [Rational Design Spocificationifor |
et ather b iadoe ves bt “jusst 55 ood a5 5577 tell them o PROVE 1. Wood Construction i
551 3 Distributed by:
ity foianed At Ecations.

FrewsiueTs as pratscied by muttiole U and foseign petents, For publhibed data mgasding haiding stvengmh.
Hastener s, prtris, A Haderacs, vt the 581 webity Kt W S5 e, Copyrighe 2017 Mesal foal
Banovations, Lid, 54! prducts sne ptet prneciod.

Coprprign 2047, Wieta! foof Innertion, L. e 12017

REVISIONS
DESCRIPTION DATE REV
INTAL RELEASE 4262022 | UR

PROJECT NAME

B
NUW =
2328 ©
S0 N w
TS S
LAIn?.ﬁD-K
o2mon S
CAL?..:
DFmYF
%W v3_“0
S2ES2E
OWC#UQ
m?_EN G
e T
S <
SHEET NAME

SPEC SHEETS

SHEET SIZE
ANSI B
11" X7

SHEET NUMBER

PV-16




SolarFoot

Back

Top Bmm]
{4x) .Bm_zw
& o
k| qwﬁomz : %
1.0Gin |@r |@|
_ .50in ! t
1 _50in _ |
f— 1.B3In l.w
3.17in
3.47in _
Left Front

M8-1.25 Threaded Stud

[}
[17mm]
BTN
1.32n “
b6
ﬁ um_,._ —
._ 3%in L
mﬁn ory Applied
Butyl Sealant ]

Generadl Notes:
1. SolarFoot

2. M8-1.25 Stainless Steel Hex Flange Nut {13mm Socket)

3. Metal to Metal:1/4-14 Self Driling Screw 1-1/2" to 2-1/2"
Metal to Wood:1/4-14 Type 17 AB Milled Point 1-1/2" 1o 2-1/2"

4. Example roof

2
2
0

Scale 2:3

BARRY JACOBSON
4503 NW Z3RD AVE, STE 20,
GAINESVILLE, FL 32608
TEL: (352)281-5946
CSLB #: CVC56761
Email barmy@solarimpact.com

REVISIONS
Usﬂ!._i DATE
INITIAL mMPm.er 262022

111 isiai

Right

FOR STANDING SEAM SPECIFIC MECHANICAL LOAD TEST
INFORMATION AND CLAMP INSTALLATION INFORMATION

PLEASE VISIT: WWW.S-5.COM

METAL ROOF MNNOVATIONS, LTD,

S005A T&1 Al
B555 TABLE BUTTE RO
EST ASSEMBLY WEIGHT: | . s A COLORADC SPRINGS, CO BIRGE
THAF5-D518
!
e EW.—.: Jx.__wm TiP-4R5-0045{FAX]
8125 s Pl Wt
™ SolarFoot [CCD]
T, v TREWG WO, TR
= |Pet-AGA _ Baul Leitch _ "Bosa002017
I waGHT:
Beacker0.12% its £ PROOIUCTS ARG IV BY MIZTIFCE 1
Fastenar Q08 bs T G WtLSETE A W S G0N HO OO0 AND
Mut- 0015 B

PROJECT NAME
<
S
Z29 =
L2 s e (&)
WNS?_ L
LAnUdI..L 2
1= © 0 <
ON_3 Sl |
w -2 FEO
Aw"w,uah
2ZELEE
OWC * D0
TawZ P
FeXx M =
S <
SHEET NAME
SPEC SHEETS
SHEET SIZE
ANSI B
M X117
SHEET NUMBER

PV-17




4 ®
] The right way 1o attach almost anything fo metal roofs!
@

The Right Way!

Please read these install instructions In thelr entirety before beginming wark.

Instaliation Instructions

5-51* Warning! Please use these products responsibly! Visit our website or contact your 5-5! distributor for available load
1est results. The user and/or installer of these parts Is responsibie for 2ll necessary engineering and design to ensure the
Solar Feet™ have been properly spaced and configured.

Notice to S-5! users: Due to the many variables involved with specific panel products, dimates, wind loads, snow loads,
and job particulars, the manufacturer cannot and does not express any opinions as o the suitability of any 5-51 b
for any specific application and assumes no liability with respect thereto, 5-5! products are tested for uitimate helding
strength on vatious profile types and fals, This i on is avallable from the 5-5 website: www.S-5.com,

These install instructions serve to Hlustrate the correct procedure for securing the SolarFoot to a roof, Proper layout and
frequency will vary on a job specific basis and should be dete d by a quaiified p al. This document is an
installation guide only and the photographs and drawings herein are for the purpose of ilustrating installation, tools and
technigues, not system designs.

The SolarFoot™ is made for exp i-fi d metal roofing. It provides an ideal, therproof
mounting platform to attach the L-foot of a rail mounted solar system o7 other ancillaries to the
roof.

Tools Needed

« Electric Screw Gun

- Rag

= String Line

- Tape Measure

- 3/8" Hex Socket Drive

= 13 mm (or 1/2") Hex Socket Drive

Placement Tip

The SolarFoot should be placed in the flat of the panel, between the ribs. It is designed to straddle
striations or minor stiffening ribs when necessary. The SolarFoot must be mounted directly over and
into the supporting structure of the roof, Le. wood decking, wood or steel purlins, or trusses, NEVER
into the metal roofing material slone.

Fastener Selection

Fastener selection will depend on whether the supporting structure of the roof is metal or wood.
When relying upon tested load values one of the below fasteners MUST be used.

Drilling Screw - 1-1/2" to 2-1/2" Length - 3/8" Hex
Washer Head - Zinc/Alursiturn Cap

Metal to Wood Screw Specifications: 1/4-14 Type 17-
AB Milled Polnt - 1-1/2"|to 2-1/2" Length - 3/8" Hex
Washer Head - Zinc/Aluminum Cap

Thase instructions ant for use by thoss ade. Abways fallow bpprop safety d wse fate tools.

Install

™

SolarFoot

£
=]
Q
wn
)
2
-
3
o
o«
==
>
i
o
%
oo
]
o0

SolarFoot Insteliation Instructions

To Install SolarFoot™

1. Determine the location of the supporting structure of the roof. Wipe away excess oil and debris from the desired mounting
location.

2. Peel the release paper from the base, align, and apply to roof surface so that fasteners will engage the structure below.

Install screws through the pre-punched holes in the SolarFoot into the structure below.

4. Install the L-Foot over the stud and secure in place with the provided ME-1.25 hex flange nut tightened to 160 inch
pounds {13 ft ibs).

W

NOTE: Attachment fraquency and spacing for PV arrays is the responsibliity of the system designer. The makers of S-51
Solarfoot make no representations with respect to the variables involved In PV array design. Visit the 5-5! webslte for load

testing data.

1

550 ing! P this
potants.
Loppiight 25, . 551
vty
Ths e for use by th in thee trade. Aways follew iy d Al
LPBEV10_08/17

BARRY JACOBSON
4509 NW 23RD AVE, STE 20,
GAINESVILLE, FL 32608
TEL: (352)281-5946

CSLB #: CVCEET61
Email barry@solarimpact.com

PROJECT NAME
<
e
e =]
NN_.O?_ w
LA01LK
JfNon
3288EkS
CAL_..I
DF1WF
%) N E O
SSr=o
=Z2ESEE
OUC#Um
TOwZ -
Fexa 3
< < s
L <
SHEET NAME
SPEC SHEETS
SHEET SIZE
ANSI B
11" X 17
SHEET NUMBER

PV-18




Guser

#Z5, IRONRIDGE Tilt Leg 1,4) Bolt, Bonding 3/6-16 Sq Head 2iNorth it Leg
. * i Varies .Iﬂ
1.0 3/8-16 THD =
I*... l -24 .me “ ﬁ._.ﬂ__ HH‘W..E
148

3) Nut, Flange Hex 3/8-16 55

2 A

Material Stainie

ITEM NO DESCRIPTION aTy IN KIT
1 BOLT, BONDING 3/8-16 SQ HEAD, 2.25° 1

2 NORTH TILT LEG, 1.5" 5Q, LENGTH VARIES

3 NUT, FLANGE HEX 3/8-16 5§

4 BOLT, BONDING 3/8-16 SQ HEAD, 1.07

5 PRE-ASSEMBLED SOUTH TILT LEG

8

7

WASHER, FLAT 3/8 58
BOLT, 3/8-16 X 2.5" CS SST

slalalalalw]s

8 U-FOOT
TILT MOUNT KIT OPTIONS
PART NUMBER DESCRIPTION NORTH TILT LEG LENGTH AD ]

TMFTL-010 Kit, Fixed Tiit Leg, 107, Mil 10° ___ il h_

- || -~
TMFTL-015 Kit, Fixed Titt Leg, 15°, Mt 15° _H m 5 1 3
TH-FTL-020 Kit, _.I_Rmn_ ._.._= Lag, 207, Mill 20" * = i
TMFTL-025 Kit, Fixed Tit Leg, 25", Mil 25 = |l_ 20 “u
TM-FTL-030 Kit, Fixed Tiit Lag, 307, Mill anr

i

4509 NW 23RD AVE, STE 20,
GAINESVILLE, FL 32608
TEL: (352)281-5846
CSLB #: CVCS6761
Emall barry@solarmpad.com

REVISIONS
| oEscremon | pate | Rev
PROJECT NAME
<
L W
SNU% =
L57.| Q
Z >0 N L
..LAO — v
XN on
oZoows
CAL |
[aQTH 1W L
wn- -QEOC
AWW Ol
2ZEREE
QocO0x>DG
T QwZ o
TrER T
S <
SHEET NAME
SPEC SHEETS
SHEET SIZE
ANSI B
11" X7
SHEET NUMBER

PV-19




“Frust your systesn at every angle.
The IronRidge Tilt Mount System supports a wide range of solar module tilting angles, while also resisting the
extremne wind and snow forces experienced over a building’s lifetime.

tested, and the entire system uses only

mﬁi oo_.svoama has been fully engi d and ri

steel

Roof Friendly
Lightweight and compatibla with

I indusiry-standard attachments.

Strength Tested

All components evaluated for superior
structural performance.

UL 2708 Listed System

Meets newest effective UL 2703
standard.

Tilt Mount System

PE Certified

Pre-stamped engineering letters
available in most states.

Design Assistant
Oniine software makes it simple to
create, share, and price projects.

= 25-Year Warranty

Products guaranteed to be free
of impairing defects.

—— XR Rsils & Tht Legs

~—— Grounding Gamp2

Attnch directly to Tilt Legs. Available in three targeted
sizes to support specific wind and snow loads.

+ Unigque curved profile
« Spanning capablliies up to 12'
- Clear and black finish

Tilt Legs (7

._-_—wgc.___ﬁﬁmmaﬂn!d_n _.ESuanmnaom
include South and North Tilt Leg and all hardware.
- Available in muttiple langths for & wide angle range

- Assambled South Titt Legs Inciude angle indicators
- Legs are slectrically bonded to rails

UFDs

CAMO &

Bond madules to rails whils

BARRY JACOBSON

4509 NW 23RD AVE, STE 20,
GAINESVILLE, FL 32608

Emadl uﬂd@nn.ﬂ_ausa com

REVISIONS

DATE
.i:z.nm_.mymn. 04282022 _ UR |

T v I P A P b AT S, PRI A TG SO 0 3, S el

Universal Fastening Objects Snap onto the UFO to transform
securs and bond modules to rails. into & bonded end clamp. staying completely hidden. R TANE
* Fully assambled and lubricated « Bonds modulas fo rails * Universal end-cam clamp
+ Single, universal size - Sized to match modules « Tookless installation
= Clear and black finish + Clear and black finish + Fully assambled <
-0 = W
—— Accessories » =3 m m
— 9
BOSS™ Bonded Splices & Grounding Lugs & Ends Caps & Wire Clips zZ= e N L u
o -
T<qonX
oZ2monSg
O C- N T o0 T
o8ZgEk
- e
s - & — M mmw‘l“_w
Bonded Structural Sphces connect Connects Tilt Mount system to Provide & finished look and = M =
and bond XR Rails together. equipment ground. organize electrical wires. m 2 Ox#>Dg
+ Integrated bonding - Low profile + Simple snap-in Installations = o 1] m v
- No tools or hardware - Single tool instaflation - Clips hold up to fen 5mm wires = M T
- Self-centering stop tab = Mounts in any direction + UV-stabilized polymer i <
B ’.
% Design Assistant _ rh g MABCEP Certified Training SHEET NAME
. Go from rough layout to fully i a* Earn free confinuing education credits
ngineered system. For free. 7 “5.*  whie leaming more about our systems. SPEC SHEETS
Go to renRidge.com/dosian ¥ G0 1o onRidge. com/TEning
. = g SHEET SIZE
ANSI B
11" X7

SHEET NUMBER

PV-20




